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The number of _____ grew from last year.

576 ETE514574>7 Task | TIIEHOEEERBENSBEATY, EMEHET LI grow (B4

%)+ "8I3, = A\ T grow rapidly (B3£I % %) X grow steadily (BEIHEAS) DL REHERRE

MBI EASLILFELLI B AT grow D gr DEERIZTKKT 5,13 green (5&) X° grass () ©
RERTT.

f5]: The number of tourists from China grew exponentially from last year.

"TEFEHSPEH SN EISRBUIEML <,

@5 (74>7 Task | DEANTRXIZ7BELTHE

The line graph represents the number of _____

IELTS SAT4> 7 TIREN IS 75 BT HRBEANHBIN, "£T12E%T S represent IBRIRT
H').show/demonstrate/illustrate/ indicate %2 ¥12/X5 7L — X TEF T, stand for 3L OB E
BRIRBHDAE-F I TERALELLD,

f5]: The line graph represents the number of annual visitors to the national parks.

FZDIFNIRIT S 7IIEILABNDEMBBERELZL TS,



@R FICLENTRIBISEA LN ERHE

______increased substantially as compared to the previous year.

IELTS 474> 7 Task| TIIEREHE T HHERIHI AT increase DI EARKHZEICIL

substantially (EE®II. KB DL EELRBAZAVTERBADEEZLITELL)AMIZE increase &

B89 %8137 sharply (Bi#I2) /markedly (ZFL<) / dramatically (Bl#912) /exponentially (A1)

BREPHYIETOTELHDTEATETELL),

f5]: The population of the city increased substantially as compared to the previous year.
FZOEHDOACITATFEICLERTKRIBISIEA 7200

QN FARITHE->TVWELNEHTE
___ bhas become increasingly popular in recent years.
RAETTHEAVGRAENHLIE AN LS T THENICARNE TETVWEIY 2R THEXTT . become
popular |27 % ; * BT 58I D increasingly #38/mT 52 TERIRDEE LT EILATEET Bl
%M EATICAWT IELTS SA 74> 7 5 HBE# 0 Lexical Resource GERNEEY) TaBaxBIEL
FLL
f5]: The use of Al has become increasingly popular in recent years.

MRE Al DFERIIESETATIE>TETWNS,

Ottt DT THEINBLLL->TVWERLDNER/HTE
____is becoming increasingly competitive in today’s society.
competitive (B #7%) DEERIEL com (F12) +pet (KHB) H5EE VI NES>TWEAA—IUNTE,
appetite (B8R) X° repeat (#")3R L) X R 3E/R T 9. competitive society (FE$4t &) X° competitive
price GRE M) L EAEZ R ICAET IR TOLLLELINEZ T, LFAFD competition X EIZEF D
compete ICDOWTHAEEHALTETZL LD,
f5]:Online marketing is becoming increasingly competitive in today’s society.

(A= T4 IS BORKIBVWTETEITHEE B> TN S,

QO FEIN TV S EREIHTE

In today’s society, a great deal of attention has been paidto _____

IELTS 947 4>7 Task 2 DENTIIH# L1 EEIT S —AHZL (General Statement) #5885 578 pay

attention to A * X E)REICL /= A great deal of attention has been paid to A. (A ISEBE & F-T

WB) EAWVEDOHNERTT, TEB DI S W) ERRD be in the spotlight ¥ be in the limelight

LHHETRATETILL),

f5]:In today’s society, a great deal of attention has been paid to mental health.
FSBORETIIASIILANILRIZELDEEN IO TN S,



OLRURICEVWTERLIAIIBETEILNEHME

has become ubiquitous in modern society.
ubiquitous IFLZICTHLHBATEILE BRI SGEEATHY BRELHBRDN-OBICEFZHEC=—2—X
BRETBICTARETIN TATIVIFATA> T TIIBEHEZIRTT . /2 throughout the world (H# 7R
D ESFR) X exist every corner of the world (M RDESFFICHEAETS) REIT/IZTL—IINEZLH
HVET,
f5]: Al has become ubiquitous in modern society.

AT IZIRARHENEBLIAITHFAEL TS

QHEDNFDARHNEEL TSI EHT
There has been a widespread agreementon ______
IELTS 54 74>7 Tld Many people agree that...D& I TA; # F2EICL BRI LYD There 35
LTS TL—X BB B WEXOIFINE T FAEANIIBEITS5— X (General Statement) T
IFEEL A GBI AL EN KD SN S7-8.In today’s society X% XEAIZEML RIITLD ML RFELTZDL
IRBEXTHDHENDHLRWTLLY,
f5]: There has been a widespread agreement on the use of Al in education.

TRE BTS2 AlDERIOWIULAERICH26EH 5,

ORBRENDRYB->TWEILEHE

The gap between _____and _ has considerably narrowed.

narrow TV EVHEBRFDELZL TWETH  BEAR T TS, VI BE%RIHYET,

IELTS SA4 74> 7 CIIHSBBI DWW TN ONS e S TRE ) ICHTERAEZILHTELRVT

L&d.gender gap (Vx> 9 —#2E) X opportunity gap (L £) . ZL T gap Y R&HED disparity

% {f->7- educational disparity (BERZ) . L TR T digital divide (FY IR ZE) HEEREITR >

TWET,

f5]: The gap between the U.S. and China had considerably narrowed.
F7A)AHEPEROZRIIT VAT S,

Q@FENFERTRKOLNBNEZLHE
Students should be required to _____ at school.
IELTS TREFRPCRETOXMRTHOLHBEN S F1T1> 7 TRAEFTBHFNERERDLNIT,
FHRNRERRTHS [ think TEH® that BIXT T need T AWVWTLEIRBZZHE 1S\ FET 5% need
% require ICEWEA S DFY /ST —A L TIXBEOHITTHIETEEZACIUYTE REMLTS
HEZENTEET, ZOXEIL It is necessary |2/ 35 7L —XFE2rHARETT,
f5]: Students should be required to learn foreign languages at school.

MZHIZRTHEREZI I ESBILINERETH S,



OLFNERRRILYIZLD T

can be a major cause of crime.
IELTS TR EICEHAT ST —VISEH TT . F/ IELTS 547427 Task 2 TIdRBERAB NIV E—%
ECCDROON ARBBROEREBERRIZRIUGIT . COXELLYEELRLRIRICT ST cause %
contributor /85 7L—XF5NHL RV TLLI.F/2 Amay result in B(AIE B VORI SHDHL
17:\) X A can be attributed to B. (A I3 B IR T GEM I HS) L RMBERIRTT,
f5l:Unemployment can be a major cause of crime.

TRZRIEROERRETH S,

Q@B EDARHB/PNTEL TV EHE
People in the past underestimated the value of
underestimate NFEIRIL under (TI2) +estimate (RFEL2) THEXHES  ME ERTECRBAL 5L
W) ERT underestimate the value of A DB TELEWE T, R BB L overestimate GRAZHET %)
7Y, place a high value on A(A IZEWMBEZ BL) Y RIELTHERVWTLLY,
BI: People in the past underestimated the value of sleep.

B EDARISERIROMRE =8/ aPEL TN )

@B ANHEBICRIANLNE L EHE

____can be implemented in Japanese education.

implement [ T3t EXCER G EEIRYAMET TS LVIHIBERTHLULWEMRCTA T4 7SR5k

%< implement a new technology (¥ it BXY) A#1%) X* implement a new initiative (¥77z % &t

EEEITTS)DEIIfE VN carry out |1T/85T7L—XTEF T, FALHAF T tool DEERZBLLTTEE

CEENEE  YVHERDLHYIT,

f5]:Mindfulness can be implemented in Japanese education.
TBARDHEBEICEWVWTIARIILRRIENTRETH S, 4

Q@ FALZNEVNLDERHE

The likelihood of is low.

likelihood |Z T aTBEME , X° TRIA A #E KL, be likely to~ (~LZHTH3) D likely DEZFF T,

~hood I THHE X TIRRE R Y2 BT 58 EE T, childhood (414 #8) X° neighborhood GREES) % ¥'A°
BB T, likelihood |d chance (RiA &) X° probability (FT8EM) I2/5T7L—XTEFT. ZLTRED

in all likelihood (+H A\ LEZTEEFL LI,

f5]: The likelihood of eliminating all greenhouse gases is low.

FTeTOREMNRARCIRING B RIAHIIE,




Q@B EHFR TLERHZELTWSLNEHME

_____ bhave been relatively stable over the past few years.

relatively (LLEREY I #BXTEYIC) (L absolutely (JEXHII) DR BB CEEHMEZEHSEIL L TIELTS
AT TERTESERLEIFE T . relatively speaking (LbELTE Z1E) 213 Th <, ethically
speaking (fR¥2#9I1ZF A1) X° strictly speaking (% & A L) . generally speaking (—AZEIICE A
D BEATHEETELLD,

f5]: The company's profits have been relatively stable over the past few years.

RO BIEITHFLEBRHZEL TS,

QOEEFEIHIPRLVEERAEEHET

One of the most important aspects of learning English is

FAT1>7 DA (Body) DERMOXETHNEE L ER L?"—k\tﬂ?t Another important aspect of A

isB.TADELI—DDEZELRAIEIIB THE,DLIHEDHEIENTEET, BRAZZEZEE L point X

thing # % A L2 5% DT aspect IZ/357L—XLTRELTAHILL),

f5]:One of the most important aspects of learning English is vocabulary acquisition.
REBFBIBIIRIVEZCABEN HDORERNVEBEFETH 5.,

QAl RIMDEELRRFHD | DEHE
One salient feature of Al technology is ______
salient I3TEAE R ) TRELHA I XCEFAR TIITRETR I LVIBR TSN TVITH TEEZL LW ER
HHY) . important/critical/significant |IZ/X5 7L —XTELEBEE T T, L HEAF D salience 13"
RMOEBER  EVIBRSBYTHTIVIFATAV T TELEIDTRATEETE L L,
f5]: One salient feature of Al technology is its predictive analysis.

FAI AT DBEZE LD — 23X DO TR TH 5.

QOERHICEN>TVWLLAHEHE

One reason for persistent poverty is the failure of ___

TATIVIZATA>TTIE | DOEFRISEL TCEEHCARRE G Z2LD0QBBLRYET, SEIL,
persistent poverty (WO FE THHEBR) IFEDLI LB RAE L > TWE I EERRTEIXETT,
f5]:One reason for persistent poverty is the failure of the government.

BRI FENTWBIEERD | DIZIZBFO LKL’ H S, |

OHRIESTRAWTEETHELNEHE
is largely detrimental to the society.

detrimental (B Z%R) IIBEXCH KT L TRA T4 T REENH S IE VN, bad/ negative/ harmful
RENDEHREERY/NZTIL—XTEITMHEVHIIOWTIL be detrimental to A(A IZAETHS) &
have a detrimental effect on A(A ICEXN RS HS) D 2 DORAZEEKRRICEDLE TEWRITTWEFL
&9,
f5]: Discrimination is largely detrimental to the society.

FEANIIHRISHELTETLRETH S,



ORIEIHIEN R E LS A TVSLNEHE
____ has a disastrous effect on the environment.
HEZE 3 BTl have a great influence on A (A IZHZ KEEENH D) 5 BNLELE AE—F2 7T
VIATAV T THRRBBRERTLITREE 525, LV ) RBIILZA T, disastrous DL @ HE R
FHAZTAWSGIHEETY, RENREMBENDER L EHAGHEEEZRETREATEISLIIILTEEE
L&
f5]: Air pollution has a disastrous effect on the environment.

TR RIIRIFEICRIBN R E D57,

WOV TLAETLEIN? IELTS SAT4> 7 TIRBESFTTIERAWRWTAT IVITI4—<ILRERH
BEAICENYIT BENSTINT YN EERBLTSATO I TEIDZEZRBISIA LR SE®RDH S
FVEMBELTVEILL)SELAEYREME. 20D T8 2 HEEV27ILTHELS IELTS AR HE
(/o FALXER) 19 55 AL. TIILHTZIFTEANHD IELTS REXNHRRAE—R2 29— NFIR
UH—FHEHIR) s ORZICFLHAERMEFNSELIIALTVETIREIIVLWLRKRE, THFREENE
BB [ELTS 3t TEHENLRMEOIE Y ICTHRFLIW,

IELTS fREHMTIIRS
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